=
<

a(d cot(d))
5

a(0 @) (rad)

1072 C
10—2 SRR EE 1AL Y § EEEEERERLR SLERE e b
107 . i

1073

RS RS E
T 1 = i3
@ o 1
; : : 0.8F
0.5(~+ T ; T+ ¥ E

[ : 1 0.6f{-k------

- 3 -1
107t 1 10 02 1 10 1
TP, (PCA t% beamling
—=— DQM_V0001_R000000001__Global__mkFit_baseline
—e— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000
—— DQM_V0001_R000000001__Global__mkFit_jcore50maxCand-24DUPremoval-1000-2

=~ 1 —
= : 1]
) G
2 e
= =
< -
> O 101
7NN | & R R b e S =10
= ©
)

107}
1072

T . #‘4& _____ HEH
102 L +' v 10:2

...........................

4

—1 —1 2 3
10 ! 10 ! TPlp?T (PCA tjbobeamliné'f)

o p/p.)

1074

m

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

1071 1



	Contents
	Page 1


